9 step series with grey sample and surround too dark, ajust both with a value larger *0.50"

adjust visual equal difference for Grey U between White W and Black N
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hez71-1a, image 1, produce equal visual difference between Black N - White W

9 step series with grey sample and surround appears too dark, all will be lighter below

adjust visual equal difference for four of 9 steps
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save 7 data above as text

9 step series with grey sample and surround appears too dark, all will be lighter below'

adjust visual equal difference for two of 5 steps

fo nextimage 3
adjusted spacing
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hez71-2a, image 2, produce equal visual difference between two of five steps

9 step series with grey sample and surround appears too dark, all will be lighter below'

9 step series based on all visual adjustrients used for output linearization
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restart with image 1
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difference visible?

hez71-4a, image 4, adjust visual threshold (+0,04?) of 9 steps; all equal?




